ok W b

7.

4 3 2 1
DESCRIPTION QTY.
FOOTPACK LONG BASE 2
ULTRA HIGH BRACKET 2
M8 X 16mm COACHBOLT 8
M8 X 25 ALLEN SOCKET BUTTON HEAD BOLT 4
M6 NYLOC NUT 4
M8 NYLOC NUT 12
Mé X 25 ALLEN SOCKET CAP HEAD SCREW 4
M6 FLAT WASHER 8
M8 FLAT WASHER 16
RUBBER WASHER 4
Smm ALLEN KEY 1

INSTALLATION INSTRUCTIONS (150mm ELEVATION):

SLOT ALL OF THE M8 X 16mm COACHBOLTS INTO THE LIGHTBAR BASE

ASSEMBLE THE FOOTPACK LONG BASES WITH THE ULTRA HIGH BRACKETS USING M8 X 25 BOLTS,
WASHERS & NYLOC NUTS

ASSEMBLE THE BRACKETS WITH THE LIGHTBAR BASE USING M8 NYLOC NUTS & WASHERS, EVENLY
SPACED OR AS REQUIRED

PLACE THE ASSEMBLY ON VEHICLE ROOF/INSTALLATION POINT & MARK OUT DRILLING POSTIONS
DRILL 4 X 6.5mm HOLES TO SUIT Mé CAP HEAD SCREWS

ASSEMBLE THE LIGHTBAR TO THE VEHICLE/INSTALLATION POINT USING Mé CAP HEADS, RUBBER
SPACERS, M6 NYLOC NUTS & WASHERS. (IF REQUIRED, APPLY WATERPROOFING SEALING AGENT
AT THIS STAGE)

ENSURE ALL NUTS & BOLTS ARE TIGHT

NOTE: TO INSTALL AT 115mm ELEVATION, RE-ORIENT BRACKET AS SHOWN IN FIG. B

THIS DRAWING 1S CONFIDENT TAL
AND IS THE EXCLUSIVE
PROPERTY OF REDTRONIC LTD.

NO UNAUTHORISED USE, COPY
OR DISCLOSURE OF THE
DRAWING IS TO BE MADE AND IT
1S TO BE RETURNED WHENEVER
REQUIRED.

HIVIANL_JFACTI_IF\EFES OF EMERGENCY EGL!I\AE\JT
PROJECTION |scate 1:2.5 UNLESS STATED | MATERIAL TITLE
= DRAWN WO DIMENSIONS M SEEPARTS LBT ULTRA HIGH PROFILE FIXING KIT
TOL. LINEAR +03
IFIN DOUBT ASK  |DATE 09/09/2020 | 0 1aconAL +05 FINISH
A3 WEIGHT  1.77 kg TOL.ANGULAR  +0.5 N/A sHeeT. 1 OF 1|owe no EMT08UHP |REV A

4 2 1



